“NOLGHENTC  PICOUA SACUTT olx
AOAST 4 il Al /2048 @

) COMPITO g
) £7g-i +MT3

ZZZ+Z(J-L‘E’)75 -/?-JLE O

i
e

> 2
zZ Z
Mo {%-—_ HE? —=> NESSUNR
- SQLUAONE .

B Mmgi < /e N A
] 7 \3 = 3 > 3
( M x Z) | (mi—l) Li e
/ CONFRONTO
CONFRONTO A qn TOTICO

I






i §()=\| 2= -
= el W

X-52° O
Qj AS VERTICALI 1 X * +?—X$~Z
= = o Lo §(x)
)(~D—00
= @AS. ORIZZONTALE  pot x> = ;
X‘Oéwou%::q ' g)
T DN %X>O}’f o |

Q) — [“ﬂ .

(l




P YoN
F@c Wﬁ@l: |
S‘G‘}<Q \/xej)ﬁ %x 4O§~/‘ x4
s )
&*%(‘):83‘5
Tedato: % CTRACR AL C;OQ/_,Z>

o $0< 5 () = 55







- _bul(@sx% ‘
=>  Z()=y()=Ce ()

-

—

e

cosx

(O) O— = => y(x)=0O
=> 4 (¥)=G,
(O) =4 = C=d :>} %(QE i(

) (ZxZ (2) o(x4)> (J (Zx> (2’( +®(x))

X®O (/H - +®(X4>> (/{ +0( ))
_QQ—M%+/}/§X4/®(X>
'7(:18 +0(x4)

*&M(Z"Lz)// 4

—————

X0 }}/ 2




